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INDUSTRIAL REVOLUTION  

 

 

Occurrence of industrialization and changes brought by them 

 

• The industrialisation that occurred in Britain from the 1780s to 

the 1 850s 

 

• many poor people from the villages available to work in towns 

 

• banks which could loan money to set up large industries 

 

• a good transport network. 

 

Factors that led to the change in the development 

 

• a range of technological changes that increased production 

levels dramatically 

 

• a new transport network created by the construction of 

railways. 

 

• England was fortunate in that coal and iron ore, the staple 

materials for mechanisation, were plentifully available 



 

• Iron is drawn out from ore as pure liquid metal by a process 

called smelting 

 

• charcoal was used for the smelting process. 


